
 

 

 

 

for

for <indeks=baslangic:artım:bitiş> 

      <işlemler> 

end 

indeks for end

clc 

for k=1:5 

    disp([num2str(k) 'numaralı döngü adımı işletildi']); 

end 

1 numaralı döngü adımı işletildi 

2 numaralı döngü adımı işletildi 

3 numaralı döngü adımı işletildi 

4 numaralı döngü adımı işletildi 

5 numaralı döngü adımı işletildi 

k 

:



 

 

for k=1:2:51 

for t=-3:.25:3 

for x=10:-1:1 

for n=1:length(f) 

for A=[1 3 6 7 8] 

for J=1:inf 

for i=1:n 

    for j=1:m 

        E(i,j)=1/(i+j); 

    end 

end 

i j

E

break 

t=0; 

for x=1:inf 

   t=t+x^2; 

   if t>1000 

       break 

   end  

end 

if

continue

i=1; 
for x=-3:0.1:3 
    if x==0 
        continue 



 

 

    else 
        f(i)=sin(x)/x; 
        i=i+1; 
    end 
end 

 

 

while while 

while end

while

eps=0.25; 

while eps>0.001 

    xf=exp(x)*1/eps; 

    eps=eps/2; 

end 

 

eps

eps

for

continue break while
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